PiBrc, FC

VT-Exam. April.-17-1

( 2 YaHours )

N.B. : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.

1. (a) Choose the right alternative (any eight) ; 4
(i) Elimination of the government com:r ‘I(we cono

(ii)

(E1S, Gl BP8) S EFIH IS
(iii) The only important. motive of all &ia--cx © maximise
their profit.

(Private, Public; perat

(iv) Human nghts.qlseﬂ,&erfvﬁd?)rom th principle of
(Governme@a ﬁiﬁﬁgﬁ%},
(v) Indian co “guqngﬁak-ﬁ}go
8, 7% ;ﬂ) S

19

d‘&statements are true or false (any seven) :
C Qh ﬂmcept of globalization.
ﬁwai:‘lﬁ“cbmgmmémon simple and less expensive.

e ,‘,' %ﬁ%ge«;ﬁ ei?nd expression may also include defamation.

hnL m;;ke.ﬂvas reﬁogmzed as the father of modern international Law,
stural __g;rmnment provides renewable sources of energy.

] ‘3 ’ejbpment has three components : environment, society

_‘,:'Lh.Lﬁi}a’n“vaiues help to improve standard of living in a society.
nafh;ﬁl is the only cause of aggression and violence.
) sm twguaﬂ factors are the only causes of stress

[ TURN OVER
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VT-Exam April.-17-2

Explain the impact of Globalization on Agrlculture...g; -,:

3. Explain the meaning and characteristics of Human Rights,

Examine the concept of civil rights. Describé{a"ny::f?iv.e c‘-iVi:l‘ir-i'gh'ts. o

Explain the concepts of environment and eccalogy and their mtercwnnecteﬁﬁes& o 15
OR

Explain the causes of enwronmentaj degradat:on

5. Explain the meaning and causes of stre%s--.

Write short notes on (any t@tge} SR A 15
(a) Concept of leeralazamm R (bi thsbiem O’f nﬂgratfon
(c) Food chain. iy ‘_ ] (d) Copmg wrth"St‘f “sg‘

(e) Types of confli;;tfg :




6/&5( — Sennerton

i,
P/‘a‘f"“ (aper' T
£ ‘{7/94}‘—/ 25|18  Time: 3 Hours

Note: 1) All questions are compulsory.
2) Use of non- programmable calculator is allowed.
3) Draw figures wherever necessary. ‘
4) Symbols have their usual meanings unless mentnoncd? .' 7

Q.1 (A) Select the correct option B
i) WA=1+ 3j— 2k andB= 41— zy+4ﬁ,ﬁm

(a}W15 (b)V15 ((9159
if)  Curl of electrostatic field is :
(a) non-zero (b) constant
(c) zero (d) variable ﬁ.lncnon P Skl
i)  The order of a differential qqmman L “3 oA R 331 + 3 E sin mt dsg
(a0

(©)2

iv) The time constant_

(b) vg=?wp Lot
B : @) "s“TVp
MBS ﬁﬂ\no! tl‘apsrmt énergy from one pomt to another.
: ~(b) Transversa
 (d) Stationary

03

05
, vector.
W f‘pﬁfnt P(2,2,2) with respect to origin is
asen&kﬂ{ circuit is the time taken for the current to rise to 63'/o of

1o sit ', p _,'itlon of two waves of slightly different frequencies travelling along
;ﬁrcctlon
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v) is defined as oscillatory disturbance travelling thmughamadmm

Q.2 (A) Attempt any one

i)  What do you understand by scalar field and vector ﬁeld" Bxplam it Wzth th&hé‘"lp
suitable two examples of each. 4

i) The linear velocity for the circular motion of “the partiB'Ie 18 _ V: m }H 1
Assuming o to be constant, prove that, (a) ¥ x- V’: : zm and CB) x l? q'nﬂ

(B) Attempt any one S S
B G g P& <
What are scalar and vector triple product and gwc at ]eqst twa per rties Qf each

ii) Explain the operator Del. Define the divergenee ofa vector ﬁdd and explam its physica!

meaning, : :

(C) Attempt any one

i)  Prove that (4 x B).(¢ xﬁ) (5 B)[g E) (E é)(ﬁb') PEE IS
i) Suppose A = x2z%— 2y’z‘}'+ xyizk. Find curl.it'
Q3 (A) Attempt any one\a # S ol 5o LS 08
i) Discuss the geni;mw “r- -lineﬁi‘-d_iﬁ“eféﬁﬁaf _--cqua’ﬁon‘::With rcference to
complementary .ﬁmcnon”aud
08
Nrwe an e-xptgsmon Bk the discharge of a capacitor. Under what
“mﬁduﬁ:ﬁ’ i§ the ﬁimhafge\asc«‘}lamry"
04

o1l-ha ‘é"‘idmstance Q.f lSﬂ and an inductance of 10H is connected to 90
; sl}pp"lrx Det ‘hﬁmﬁx&wlue of current after 2 seconds.
g ilh
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Q4 (A) Attempt any one i
i) Discuss the composition of two parallel simple harmomc motra
period and with same centre but of different amg’htndes; and" ﬁlﬁ"eitgt p

constants. Show that the resultant motion is also a sm_;ple onic' hay

ii)  Define particle veloclty and wave velocity. § 3
Show that (particle velocity) = — (wave veioclty) X _lcipa of thc‘disp[acemeﬂtr W el

curve).
(B) Attempt any one
0}
ellipse. S
L if)  Derive the expression for the valbr_biiy- of a sxmplc harmomc wave in
string :
(C) Attemptanyone . = i ST S o4

i) The equation of moﬁ;m oia‘patm:le is gWen by X= 5 cos (3 14t + —) in cm.

Find the period. df asgs‘liuﬂbn and. mammum acccleratmn of the particle.
ii) A guitar Stl'lq y ‘“Rﬂcm}&bﬁgmhas 4 ﬁmdamental ﬂ’cqucncy of 124 Hz. Where

QS5 20

: _._.WCMVMGGSA(ISZ) B(2 -1,1) and C(-1,2,3).
. ""teleql.ldtmfxyz’*ﬁ‘x y)dx+(x+y)x2dy 0 is exact.

.ylﬁQ mHand R=100Q, is connected to a 50 volt battery.
,;fthe c”an‘ent to rise to half its steady voltage.

AP (b Voit;gedrqugiss resistance after time t = 0.02 seconds.
_ o (e e’&ageﬂmﬁ dcross inductance after time t = 0.02 seconds.
_' What ai*e Llssajouﬁ-ﬁgum? State the factors on which the shape of the Lissajous
' mﬂﬁniwmm accordmg to the given expressnon

ud , wavelength, frequency and period of the wave.
; 3 ke e ok ok ke oe ok ok ok

Page30f3

926325B547BASECTDB1E74C0713A97B6



&3{ Lo nresbry -—-ﬁ

Agmgff 5 2l'a/"9‘/2‘”"‘3"

3 HRS

Note: 1) All questions are compulsory.
2) Use of non- programmable calculator is allowed.
3) Draw figures wherever necessary. :
4) Symbols have their usual meanings unless mentlon"

Q.1 (A) Selecttheomeetoptlon 600 O
i) At resonance, in a series LCR resonant ohtu:t ‘lmpedann& rs

(a) purely inductive  (b) purely cﬁpacitwe o
(c) purely resistive ) none%afthe above 'j IR

ii) The r.m.s. value of smusmdalvt)]t&ge Wath amplitud&Ecrls

(a} .Jz (b) 7z
(c)— (d) zero ‘ ‘ ; : ey i
iii} A source delivers nwmmm pm*&rer to load when source rcsxstance iS “
(a) less than the load fb}inﬂmt‘e : : ::' s
(c) greater than'the load [-ﬁ{ﬂ)&;ualmthc load :;-'._ 1
iv) 'I‘hecherdodd&'&i;' edasa N RV AT
(a) rectifier - (b‘) éﬁpyer
o

(c) voltage regulator. - (d) clamper
V) TheBﬁq}bmvxpmsm B+AB~V gt I

1 'e_,g}emic‘ pmiab;Vma ragm is gwen by V=10x210x+15. The value
a{ehdhiﬂ mm Fé

03

05
_ pwton and electron in a given electric field E will be
inmagnitude.

case of ﬁp ia&tlctor and a capacitor, an average power delivered by ac
orceds

_ As_’s@ﬁ{ ﬂane in statlc electric field is path independent, electric field is
afed o

Fonﬁnﬁdeal constant current source, internal resistance is
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v)

According to the Reciprocity theorem, positions of voltage source and
ammeter in a circuit can be

Q.2 (A) Attemptany one

i)

ii)

A sinusoidal voltage is applied across a series L-R cm:uzt DerWe the

expression to show that current lags the applied VOltage Draw the phasor, | &

diagram for voltages in LR circuit.

Show that in the case of AC circuits, while the potentaal drop, acTOSS” ol
capacitor lags the current by 90°, the potentlal drop across mductor Icads the.

current by 90°. Draw the phasor dlagrams ¥ e

(B) Attempt any one

i)
ii)

©
i)

ii)

Q3 (A)

Draw Maxwell's L/C bndge and obtam thc eondltlons for balanee,

A sinusoidal voltage is applied across a series LCR' circuit. Derive ‘an
expression for the impedance of the circuit. ‘Draw the phasor dlagrams for

voltages in the LCR circuit for the. resonance condltson, mL—— (l/wC)

Attempt any one

The first ratio arm of De Sauty s bridge conmsts of a resistance 2400 ohm,
second ratio arm consists of capacitance of 0.1 pF. The third ratio arm
consists of reszsta‘noe of 800 ohm, whereas fourth ratio arm consist of
unknown capacitor; If the bridge is balanced find the capacitance of
unknown capacitor?”

In a parallel resonant circuit, L=2mH, R—IS ohm C—{) 001 pF. Calculate the
frequency at which thE current is mlmmum :

Stﬁte urrd—;:roize mammum puwer transtbr theorem
: siheotcm: Determine the Thevenin's equivalent of the circuit

2 ‘.iglmbélosw que R; as the load chce find Current flowing through Ra

:-*"_‘md Voltage across Rz

¢ _(wi ] .—
and. oﬁgm ‘waveforms.
"What is meant by universal gates? Using NOR gate and NAND gate

4

S censtruc% ‘'other basic gates. Write the Truth tables.

Page 2 of 4
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©)
i)

Q4 (A)
i)

ii)

(B)
i)

ii)

Q.P.Code:3s46t

Attempt any one ' e i
Is the Zener diode operating in the breakdown regxon" If the Zener has
maximum power dissipation of 250mW, what is the maxlmum current that
should pass through the Zener diode?

2700

1kQ

Draw the circuit diagram of a posmve clamper with capacltor of 0 lmF and a
load resistor of 1M ohm. The input wave has amplitude of +8V. What a.re the
voltage levels at the output? Consi'der dloﬂe to be ideal. YA

Attempt any one

Derive an expression for the potential energy of a discrete point charge
distribution.

Derive an expression: t‘ar the electrostatlc potenual due to uniformly charged
circular disc of: raeﬁus Rata pcmt on its-axis at adistance ‘r’ from its center.
Charge on tha dasc is equal to °q". ;

Attempt ahy ane A7 ‘

Show that magneﬂe field produeed by solenoid at its axis and well inside
depends on current and number of turns per unit length.

Derive an- ez@ybs;noﬂ for. fhe magnetic ﬁeid pmduccd by current carrying

1_' Attcmpt«any‘ﬁne e

A solenoid 0:5m long has 2900 turns. The magnetic field near the center of
'3: "rthe solenoid is 0:01T. What is the current in the solenoid? Consider solenoid
' to'be infinitely: ang. :

A work done in movmg shange of 0.1C from point A to point B, is equal to
~ 500'mJ. Wﬁat is' thz pat&n’tial difference between two points A and B?

' QS Attempmnyfour e .' £
g 1 e

Deflne Q thc‘tor far series resonance circuit and derive expression for it.

s filter circuit? Explain in brief the action of capacitor filter.
Page 3 of 4
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l, ok O
V=Vosin

~,

an square value of a sinusoidal voltage

P

,
LT

~

(o

is si

e ok ok ook ok e o ok

-a full cycle and half cycle

. A charge ‘q’

..
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F}M-www-ﬁ_’l i
WM‘M'F’PW 2
{6{ 04{2‘:} g (3 Hours)

N.B.: 1. All questions are compulsory.
2. Figures to the right indicate full marks.

Q.1 Choose correct alternative in each of the t‘o‘i}nmng'
1. The series Y%_,;4 of real numbermﬁa
(a) divergent series 0
(c) alternating series i of t
il. Zn.=1( D% is a series of r&aknﬁipha 'Whm}us‘ai
(a) dwergent series ‘4,'
(b) conditionally conve
(¢) geometric len@s
(d) none ofthe,_,' R L R R e I
ii. The series Z.mﬂm ﬁ S, s
(@) p—serieg . gb) dwergant serlés
(c) convexmm! R i A8 none of these

iv. The fumsm f iR - Rdeﬂneias fe = [ RS0

x>0
’(b):.,- diﬁerentmble

f (b) 9e22(+3
(d) none of these

then £'(0) is
b 2

(d) none of these

(b) log,, 10

(d) none of these

9FET2D2B8ADCF4B906821709A2B30899



Qpc:sde?osazs F o

ix. f(x) =x® - 12x + 1 has local minima at
@ x=2 ®)-x= ¥l
© x=0 (d) none of‘tﬁ

x. The function f(x) =log.x,x>01is = - o
(a) monotonic increasing  (b) man,obomc decreasmg
(¢) bounded (d) none of these

Q2 a) Attempt any ONE question from the fellawmg ‘ - & (08)

L Prove that the alternating series ¥%_,(=1)"*!q, is
convergent if it satisfies the foﬂomng conditions: P
M ay = apyyforalln e Nie: sequence (an) is non- D
increasing. A oy K B

an lim Ay = Q g 5T

n-—=ao
ii. Prove the follo, mg hi'mt fbx:m ofmmpamson test

et X0, an and o8 b,, be the series of non-negative
lim fan)
| real nu;gbe:& ‘with b, >0,\-m EN If-n_.._i 00(3:) =[>0
8 thenE-“’ Ia,; and Eﬁ._;lb' behﬁv&a'alike &

b) Attempt any TWOrquestmns f‘rom the fallowmg (12)
Chack whether the series. Zmﬂln (1 + ) is convergent.
_; ’Juattfy your answer.

5 'PW ﬂ"ﬁt‘a-ﬁéﬂeﬂ L= 0, 18 ctmvergent if and only if
OF every ¢ ;«Jthere exist ng’ : N such that

kanM |
(_1)n+1 n

P “Show that thé sems g T
'hsqxuﬁeiy convengent‘? J ustlfy your answer.

A K Show that ifthe ¢ series ¥n_, a, is convergent then
aequence (ﬂ,J converges to zero. ‘

ﬁeﬁm>n>n0

is convergent, Is it

SR Attempt any ONE question from the followmg (08)
O f {a, b] - R be a continuous function. Show that f
-attalns its bounds,

Let f,g:R — R be functions which are differentiable at

R. Show that the functions f + g and cf are

ifferentiable at p € R (where c is a constant in R).

2
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b) Attempt any TWO questions from the followmg
1. Prove that every differentiable functlen from
continuous. Is the converse true? Juejt.ify you' _
Show that f(x) = x|x|, x € R is dlﬁ&renblable £
iii. Forn € N, find the nth order denva"twe of C ) = £
using Leibnitz theorem. ’

iv. Find 2 & = fory = x%y% + x3y2 (where yisa functlon of x).

gt

Q.4 a) Attempt any ONE question ﬁ‘om the following S 1 &
i.  State and prove Rolle’s theorem., AV NS O P
ii. Letf:(a,b)—>Rbea fu;;ctmrf W’hen can we sayfhas ¥
local maximum at ¢ € (a,b)?Further; if £ is twice ;
differentiable at.c €. )with £/(c) =0 and f "{c} < g
then prove tﬁab fhas "looal‘maxlmum VR

b) Attempt any mqﬁwﬂmhs ﬁ'om the followmg (12)

i. Letf: :{a,ﬁ}r{w Rbe a function such that f’(x) - 0, for
ove that f is constant on (a,b).

‘ Eﬁe s Mean Value theorem and verify it for

f(x)=x2 +3x+2¢m (2, 5].

ii. Let f:(a,b) > Rbe a function. When do you say f is

. -t:om " u;;nzvam;{s’*l thher find values of x in R for

P "= 4x* = 3x% is concave upwards.

, w : ,Eﬁﬁ&nﬂ:f@c :4-_-; 4x + 4::2 -2x +9 in powers of (x ~ 2).

Attempt a E@UR queptians from the following: (20)
g ﬁ‘):r“ Show that_ifthe: senea Z,E, a,, is absolutely convergent then

hi¢ \foﬂowmg series is convergent:

Z " nt43
St 3
"‘n-=1 nn3 +4n—-1)

2 N, ﬁnd yn if y = 2% where a is a constant in R.

Find - apprate value for log,(1.2) by using first three

- ‘i‘ma i ’f"ayior expansion.

; C052(3x)
.Sta’t«elx HospItal s rule and use it to ﬁnd x50 R?Z—Ex_)'

***********************‘k***

3
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Fyfosc - Seveatoy—iL 79/ 7

/WMAQ/L‘\AC&E ~—fe"f“ i, Q.p Code. 33771_ :

(3 Hours) [To_t::il”Marks: 100] -

N.B.: 1. All questions are compulsory.
2. Figures to the right indicate full marks. : S
Q.1 Choose correct alternative in each of the following: P oF Oy A
i. The system of equations x — 2y +z =0,x~y +3z = 0has ; s
(a) Only the trivial solution (b) Infinitely many so[utmns '

(¢) No solution (d) None of the above -
ii. Which of the following matrices is skew ,symmetnc 7
0 3 =2 o e
(a) [ 3 0 --4] (b) [2 0 4]
2 Al 3 4 0
0 9 0 ; IR A 4
(c) [9 1 1] o (d) [ 1 0]
0 1 0 1

iii. The parametric representation-of the line 2x -?- y=5is
@@ x=1-3ty=4=3t () x=2-3ty=2=3t
() x=2+3t,y=1-6t (d) Noneofthese
iv. Which of the fo_ljé\ﬁng;mts is ﬁnéaﬂy dependent?
@ {1, @) () {G.0),(3.6)}
© {22060} - (@ {1, 4),(0,4)}
v. IfS; = {{(x0,0)|x € R} and -5, = {(0,y,0)| y € R} are subspaces of R® then
(@ $v .S‘-lea subspme of (b) 51 NS5 is not subspace of R3,
({33 - g; n 5:\ ‘Sﬁ'Sﬂh@mce of (@) S U8 ={(0,00)}

vi, iWhmh of the feﬂ_qwmg sets isa generatmg set of R%?
e R 14 4 23,( B s A ELS), (001}
ey {2 3},(8'12]} ; (d)  None of these
vil. The rank of linearttansformation T: R? - R? defined as
’I‘(x.y,z) (x,y,ﬂﬁs e
GEARTRE Y A AE) 2
OEEIECRI (1 3 3 T @@ o
L The nuIlhy ofthc Imeﬂnransfonnatton T:R? - R? defined as
TS ST . x)is

@) 1 (b) 3
e ) e {45 (d o
- dx. - Iffor afinear transformatlonT R® — R? the dim(Im(T)) = 2 then null(T) is
. (ﬂ) 4 C3 ; ‘. (b) 3
Rt sl S @ 1
. - thhofthe following is a basis for V = {(x,y,z) € R?| z = y}?
AR {(1,0,0), (0, 1, 1)} b {(1,2,-1),0, 1,-1)}
‘_'.':(c) {(1 0,0), (0, 1, 0)} (d  {(1,0,1), (0,1, 1)}
Page1of3
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QPCode3377L

Q2 a) Attemptany ONE questlon from the following: i o R {08). /
aGx+ay= AR
Let b x+by= o
a non trivial solution if and only if a; b, — azb1 &= 0 )
ii. Letd, ,Az , ., A, be any invertible matrices. Provakthat
(A1 4z .. )-1 =4, A A1-1-_="' G

. be a system of linear equatlons. Prm’r: that 1t has >

b) Attempt any TWO questions from the fai!owmg SOy
i.  If A is adiagonal matrix with dmgena{ eiements al, az. : ,q.n,
find A* for k € N. Kl

ii.  Reduce the matrix _1,:-" & St qz.._ to row echelon form el
54 7-5‘ 3. Ll
" i
iii. Solve the fol]owmg system of Imear eqwu;ns
S x4y +82=10
x4+ y~12z= 0. g

iv. Let Abem X nmaﬁxandke R.Prove(kA)‘ =k A°.

Q3 a) Attempt any@NE qucstwn from the fol!owmg g (08)
i. Lets V%f%+aix+azx2+a3x | a;€Ry 1—0123} Vector

additma is _d&ﬁnbd by Xg_oa;x $ 33 bxt =33 (a; + by)x', for
[q R. Verffy all pmpertles of vector addition for vector space

i :Deﬁnea "ectm‘ sﬁbﬁpace Le’[; Wi, W, be two subspaces of a vector space
L Vo % U W; isa subspace of V if and only if either

v qst:ons ﬁ'ointhe t‘ollow:ng (12)
ol A O Lt N avecxeiupace over Rand SC TEV. Prove that L(S) € L(T).
AT LptV-— {(x;,)l %5 € T,V n € N} be a set of all real sequences. Prove
T U ol {(aacn) € V1 lsm #y = 0} is a vector subspace of V.

EES) iii,'»LetVﬂ’ isa mmrspaee over R, S= { (1,0,0),(0,1,1),(0,0,1)}.

o+ Find L(8) and express {2,3,4) as a linear combination of elements of S.

O | L ‘,Provethat the set {w}in vector space V over R is linearly independent
Toforve and fineatly dependent for v = 0,

R af) Attemp%myONEquestlon from the following: (08)
0 4. Define image of a linear transformation. Let V and W be vector spaces
‘overR.LetT: V — W be a linear transformation. Prove that image of T
&bﬁ"' ector subspace of W over R.
Prove that every maximal linearly independent subset of a finitely
nerated vector space is a basis of the vector space.

Page 2 of 3
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b) Attempt any TWO questions from the following: o o Y

i. Give one example each of a vector subspace of the vector spaCe Ra over -
R with dimensions 0, 1, 2 and 3. Write a basis for ecach vectoréubspape e
ii. Why is T: R? - R? defined as T(x,y) = x=y, |x1 7 not car
transformation? !

iii. Check whether {(1,0), (1,1), (—1,2)} is. a basns of the’ veetor Sp&ce Rz

over R. ‘ el st o,

iv. Find the dimension of W, + W, where W1 S {(0 0)}; Wz = Rz W ey T oF

Q.5 Attempt any FOUR questions from the folle;pg

2 =2 -
a) Show that A2 = A for A = [—1 3 4].
1 -2 =3

b) Define identity matrix, symmetric matrix, skew symmetric matrix, with an
example.

¢) Check whether the set {{1:1,0),0,2,1, (0,1,2)} is linearly independent in R3.

d) Show that the set {(1,1), (—1,0)} is a generating set of R? over R.

€) Obtain two different bases of R® such that both contain (1, -2, 0).

) LetW, = {(x,7.2) €ER*|z = x + y}and W, = { (x,y,2) ER}x = y)
be vector subspaces of R?. Find the basis and dimension of W N W..

Mﬂtnuuuut*uuw**ﬂ
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[Time: Three l-lours}_

Please check whether you have got the right ques_ e
All questions are compulsory. )
Answers to the same questions must be wnttemtagvth
Figures to the right indicate full marks.
The use of log table/non — programmahr& i

BN foie

-1 A Select the correct option (MCQ) and complete the follbw}ng ences;
i) The van - der Waal’s constant--— is introduced toﬁ%umht fo rdnterme
a) - R
by- 2
_ o S
\Ti) Inversion temperature can be expressed as,ﬂ—n-u-»‘-r-«-« ]
a) T; = 2a/RT; G .
b) T, = 2a/Rb;
c) Ty=a/2Rb
iii) For the reaction, CaHyeg) + Hz(%
a) K, =K, e
b) K >0
C) K < KC % ; ey %
V) At constant temperatureanﬂ p eﬁmﬂ&% Cﬁterlpﬂfb manéttv ls o
a) AG =10 - i SLR
b) AG >‘9

[r.T.0]

823882DC6969BD73E8DDAATF6F754762



x) Among the following compounds, ------ can give eliminiation reaction.
a) Only ethyl chloride
b) Only tertiary butyl bromide
c) Bothaandb

xi) Reaction intermediate in Elcb reaction is--------.
a) Carbanion
b) Free radical
c) Carbocation.

xii) Among the following ------- is the most acidic in characten
a) Propene : :
b) Propyne
¢) Propane

B State whether the following statements are 'ﬁ‘ue or’&ﬂse L),

. The free path is the distance travelled by themqlecuié:befbw en‘ilisfpn et
I| Friedel Crafts acylation is an important m&hb&i‘orfﬁe preparation of alcbholsf o
iii. Alkyne gives elimination reaction. e

C Match the following columns: 05

Column P-
i. Average mean yérasty %
ii. Gibbs free e '

i, DMG paper™ .~
.| 8~ hydrowy guin

V.

u tbQSfa ] hdffqumﬂ‘? change associated with a chemical reaction whose equilibrium constant 03
025.at 295 K. (R = ;vgggﬁk’*mﬁi'l)

“How does it explain the effect of temperature and pressure on the state of 05

b

'?éﬂwbmm?

ﬂtu émwbv&[w_ qt ‘flﬁiﬂum constant for reaction at 1000K. The standard free energy change atthe 03
re.i 'vs.i?Sk]moi‘l (R = 8.314/K~'mol™1)

; [P.T.0)
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Q.P. Coq;e

o

volume of 10dm3 at a pressure of 2. 027 x 105Nm™2,

. Define : a) chemical equilibrium b) Isoen:mplc.‘changg
Il.  Distinguish between reversible and irrevek&l edc

.3 i Explain diverse ion effect.
Explain the importance of solubility product.
OR

Fel

temperature.

i Whatis Pearson’s principle of a;:lds andhages? Haw 1$ rt gad ta expla?n
a) Metal poisoning b)) Stabﬂltyﬁf tbmghxes !

: -:Iﬂ Expiam perqxide eﬁect witha su&ableexample
o) O DH

OR
: w Mg :ldftmn reaction with suitable examples.
i Wurfz”re;acﬁdﬁ? Give two suitable examples.

823882DC6969BDT3EBDDAATF6F 754762

Calculate by using Vander Waal’s equation, the temperatureai whtchﬁ

037

» i On the basis of weight of the sample for analvsisexpl’atn the tvpés of qu?alltatlve analys S
The solublity product of BaSO4 is 1 X 10"“’31;25"(1 Calt:ulate its sa1ublliwin pure water t.the same

i)

Ito = ionization of

[r.T.0]

05

03

03

04

05

03

05
03

05
03

05
03



- e

. Give the mechanism of chlorination of propane.
OR
2 Complete the following reactions:
I CH3—CH =CHy+HCl —> ?
il. HpC=CHBr+HBr —— ?
iii.

H,

5  Attempt any four of the

Lady
following -
e &
&

i

A,

aﬁaﬂd& ahd%ases with suitable examples. 05
l‘;h“{ ‘S;«x;‘_"ﬁlt;itadlem. 05

05

05
“n?

WO
\l_“l by
)

\
Ao el
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v

4

823882DC6969BDT3EBDDAATF6F754762



My o

f}(b@c ~Sevrvestor —,

-~

CRoeniatry—faper T

[Time: 3 hours]

Please check whether you have got the nght*questiah ape

N.B: i) All questions are compulsory

ii)  Answer to the same questions mﬁst be»Wm'ﬁeb»togeth

ili)  Figures to the right indicate funmarks

iv)  The use of log tableslnon-pl:ogmm mﬂible ealculatm-q

).1 A) Select the correct option and complete the fojlowmg Sentences

i)

iii)

pH range of phenolphthalein mdlcatcw is Bas &,
a) 5.0 - 8.0 N b S
b) 8.3 - 10.0
c) 2.8 -46

The concentration of H* ions
a) 1x 10 e
B) T 1x107TR
c) 1x 107M

In the visible light : mlbr‘hasthc loﬁgest wave!angth
a) Red 7 : ‘

b) Yellqw_,

c) Violet

Tetragonﬂmstg]sys&mhnsﬁw
a) < a:‘:b—&‘?a&dtr*'ﬁ=r-—99”
b),\.;‘ “baﬁaw&=ﬁ*r?~= 90° -
u;,; ’#“baﬁanndﬂ sfmr= 00

unfit ﬁell dlmenszons

¢ aem‘m SOz molecule is

Page1of6
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Q.P. Codelrazass |

viii) A graphical plot of the volt equivalents vs oxidation state x)f vchemica! spec’ gs is
called . el . .
a) Frost diagram dmg'am
b) Latimer diagram
¢) Walsh diagram

ix) When moleculecxpcnemesstram the mtema‘:enefgy G SR
) decreases :
b) increases
c) equalizes

x)  In chlorobenzene, chlorine exhibits effect.
a) Only +R effect R
b) Only -1 effect
¢) Both+Rand —Teffect .~~~ =

xi) has the h;ghcst;ﬁtab&fy among 1he t"ollomng ahcychc cempounds
a) Cyclobutane RS
b) Cyclohename &'<"s o @07 13 T : N
c) Cyolooctane A R O O S S PRI

xii)  Oleum is
a) 505in H‘Q‘SOQ
b) 50, mpyﬂd@e
c) CtSU;Hin Cglg

n; Astatements are true or fa{se‘ ;Y 03
emiperature increases, the degree of i ionization of an electrolyte decreases.

3 dometry, liberated iodine is titrated with standard solution of thiosulphate.

i) ‘Boat ﬁ)xm ofcys:lohexam hastransannular strain,

05

Column B
a) X-rays
b) Minimum torsional strain
¢} 120" :
d) HClO, A
e) rusting of iron
f) 180°
g) UV-rays
h) HCN

) v--'f;‘he ionizatinmcnnstant of acetic and is 1.74 x 1075, Calculate the degrec of dissociation of 05
cztrﬁ gcxd in D.OSM solution. Calculate the concentration of acetate ions in the solution and

in the concept of “ionic product’ of water. s

Page 2 of 6



g

B)
i)

0
i)

Q. Code 31859

“ OR

What is acid ionization constant? Derive an expressron f0r Ka uf' a’weak aci “(HA) in. ten’nsn‘ﬁsl )

of < and C. .
Calculate the pH of the solution obtamed by mlxmg 200 cm of O;lM NaQH and

300 cm?® of 0.2M KOH? ol el A A

Wireless networking standard channels work between 24 % 10° Hz and 5;0 X 109 Hz
range of frequency bands. What wavelengths con-espond to. these frequeﬂcnes’? '
(C=3x10°m/s,h = 6.626 x 10734 8) : g
Discuss the characteristics of crystalline solids.

R

a) State the law of symmetry:’" Tk : e e
b) How many elements of symmetry are there in cubnc erystal. Elaboratc mﬂetanl

A band spectrum is obse;'\ted forﬂtewomc transmon of molecules buta line spectrum is
observed for atoms —Exﬁlam : ek

Define:-

a) Buffer capécﬁy
b) Dxprotlcac:ld

a) Listthe ré'gions of'efemagtieﬁCvépectrum in order of increasing frequency.
b) Define Crystal lattice.

i -_-fD@ﬁne‘* &
5 _Tﬂ o ok wrY e

' """epr{ncxpfe with suitable examples.

i ; }Befme po}anzattbn ofdx‘l atom. Explain any two factors which favours the covalent
haractcr»of mms bﬁnd

Page 3 of 6
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A)
i
if)
B)
i)
ii)

OR

Draw lewis dot structure of the following molecul‘at*lons -
a) N Oz .
b) NH,*

Explain the application of VSEPR theoryﬁbrﬁqdmﬁpgtﬁ& shapp and_
angles in BrFs (atomic number of Br-lS) P e

Balances the foﬂowmg equatlorhwﬁﬂr stépw;se echlahafxon. AT s

The standard electrode potgﬁtjakval & fs,dver are as given il’Lthp taJsle belgsw 04
Redox reaction . i 5

Ag*t + e -4’4&*

if) - Expla

04

ican ef Water as a reducing agent and oxidising agent. s

bond. and covalent bond. 04

4

05

03

" rite gx}amn ‘confonnanonal analysis of cyclohexane. 05
Hammonds postulate. 03

Page46f6



Q.P. Code :31859

B) AL RTINS o A

i)  Explain directing influence of -OH group on elcctrophlhc aromatlc snbstlfutmn m _ '
phenol. ARSI 1. 3
ii)  What is antiaromaticity? Give example of antlaromatlc compounds A K
OR FEFF T I TS TO TS SO
B) P o S RS U
i) How is benzene converted to mtrobenzene‘7 Explam its: mechamsm SR | <

ii)  State any three criteria which must be satlsf' ed for the compound to be aromauc

P 04
C) State which of the following is aromatic/antiaromatic/ non aromatic. -

M v

s 9 ()

PSSO O s 04
‘ane and cyclopentane on the ba51s of angle strain theory.

C) Explain stablhty Of cyslﬁp‘

Q.5 Attempt any four of:-the ﬁllowmg

. A) De;we chdersen s equatlon for the pOH of basw buffer. 05
B) 3) Wliat s Spectroscopy‘? How are its techmques an important tool for chemist? 03
o : :i) Why is. amorphaus solid called as “super cooled liquids’ 02
. C} What is meant by stemc number‘-" Predict the shape of NH3 molecule on the basic of steric 05
number Eoml o
D) Finﬂ out omdation’tmmber of Mn in the following;: 05
g ) M n04 foe ;

ﬁ)

iﬁ)

lv)

V)

03
Page 5 of 6
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QP.Code 31859

E) i) Explain flipping in cyclohexane. SR
ii) Complete the following reaction and name the product fcmped

Conc .,
HaS 04

+CH3CH = CH,

)

+CH; COCl 222 5

Alcty "
3 02
ii)  Which of the followmg PN Y 5 &
a) has methyl and Brgraups at the ﬂagpole ptsuwn CORR g il

R AR AR K H

i e )

Page 6 of 6
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g ___?4/?6(-2 Q.P. Code 12101 IS FFEE
/ / 94/2‘0[?, [Time: Three Hours] .‘ ‘;; s [Marks IOD]"

Please check whether you have got the rlght qﬂestmn paper

N.B: 1. All question are compulsory. N Rl v
2. Figures to the right indicate full marks” . T BT
3. Draw neat and labelled diagrams wherever necessary '

Q.1 A) Fill in the blanks by choosing the correct option_ giyet;l mthe bfac’ket«. ) i P 05

a)

is defined as the number of new lndxyldual added to a po’pulatmn
(Natality, Mortality, Birth rate) PP -
b) migrate from ocean to the estuaries; (Eel Trouts. Tlger prawn}
c) Light penetrates to the bottom of zone, ' © (httoral llmnetlc, profounder)
d) Pangolin is categorized as spemes (Vulnerable extmct endangered)
e) ______isahome to the largestpopulanon of lion tailed macaques.

(Sivent valley, Bandipur ¢ sanctuary, pirotan xs]and)

B) Match the column I and II and rewrlte:- % ' ' 05
a) Cancave cur\gé" ; e i 'Plasmﬂdium ;
b) Endo parasite = i Olive Ridley sea Turtle
c) Abiotic eamppnent . iii. . Coralreef
d) Plrotank!slandf\ TR bk G e nght )
e) Vulﬂerable SR OySter
C) State whether True m' False - ;:-_  S Bl ; 05

a) The chncept of“hfé tab‘le was first formulated by Raymond pearl.
bj Bbh,gate parasites are also.called as holoparasite.
4 i-c} Sulphur eycle isa sedimentary cycle.
& d) Keolaieo, Ghana National park is a manmade wetland park of India.
: e) Comdors are mherent geographlcal linkages.

2 D] AnsWe[ :fh;One sentence bnly 05

'f-,a”j' ‘Wh‘ _isBcolqgmal densrty”

S _W‘hams N’lmﬁtatinn”
7Y d) Gwe fuli fOrm DstNDP
: e) Name two representatlve animal species of Gir National Park.
g : TURN OVER

Page 1 of 2
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Q.P. Code12101 : :

Q.2 A) With suitable example explain the types of growth patterns. y .; P P 10 &
A) Define population density. Explain various methods used for measurement of populatlon
density.

B) Write short notes on any two.
a) Fecundity
b) Ecological niche
c) Sigmoid Growth Pattern

d) Mortality
Q.3 A) What are ecological pyramids? Add a note on lt:s types.m,:: & 53 ’ Ij;; : ,. 10
A) What are biochemical cycles? Expclam sulphur cycla
B) Write short note on any two. 3 Rl R ' i 10
a) Positive interactions ; )
b) Food web :
c) Biotic components: af :m Eeosystem
d) Detritus food cha:m ;
Q.4 20
Q.5 20

c) ParaSltés RREN S S
’d}Lotwsmem Pty

I

T ————

Page 2 of 2
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[Time: Three Hours]

Please check whether you have got the right question paper
N.B: 1. All questions are compulsory.
2. All questions Carry equal marks.
3. Draw neat and labelled diagrams wherever necessary.

Q.1 A)Fill in the blanks by choosing the correct option given in the bracket ' A
a) migrates from ocean to the eustaries for breedmg
[Sharks, Pomfret, Tiger prawns]

b) The concept of the life table was first formulated by
[Raymond Pearl, Charles Elton, Thomus Maithu.f.l W

c) Interaction between the members helongmg to the same spec:es is termed as 5

[animal interaction, intra speuﬂt interactron, inter specific mteractaon]

d) The temperature range at whlch orgamsnns carry out’ n,ormal actwutles is knows as
[euphotic zone, bIOtIC zong,‘bmkmeﬂc zone)

e) Pangolinis categorﬁedas specaes
[vulnerable, endangeréd extTnct]

B) Match the columns | anddj}gnd-r.ewﬂxe.._

. o "
'..a} Cnng:aue shape curve i) Panther Pardus

Blaaoal Phy@n[ankton e, ii) Panther Leopersica
oo 6) Commensalism o i) Inverted Pyramid of biomass
WA )',Asiatléhbn a0 iv) Mortality is very high
e) a ) ‘Remora-Shark

P Oxygen cyle 15 a Hydroingic tvhs af cvcle
| :f\-'.ic] Predatlon is a negatwe interaction
o 5 d) Kebtﬂeé Natlonh? Park ls loeated in Bharatpur
fi '.e) Project“Crospﬂﬂe was launched in 1975 by Government of India.

926325B547BASECTDB1E74C0713DD7AD
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D) Answer the following in one sentence:
a) What is Life table?

b) Give any two survivorship curves.
c) Give full form of IUCN.

d) Define bio piracy.

e) What is project Rhinoceros?

Q.2 A) With suitable example explain the concept of mortality and its type

OR SR E e ,‘.: : i % ’

A) Define population dispersal. Give an account of population dlstnbutmn patterns." s

.—,,,

Q.2 B) Answer the following. (any two)

a) Explain mechanism and significance of human census &
b) Give an account of Niche Concept. - = ..

c) Explain age structure. Add a notéonagepyramid " L ‘

d) Explain J shaped Growth Curve ,: ; & A, ;

Q.3 B) Answer the followmgf{any two)‘ ¢
a) Explain thelnﬂueﬂce Qf tem pe:ature on biota
b) Classifv' nd desﬂrlbamﬁm examp1é;, ammals based on rnode of obtaining food.

Q.4 Ans\wegt fo!!c&wmg.'(any\ml
";)‘ D ul‘ . g sl

3 leht&a!ley natrqhai park
W]ldh.fe pro@ectlonAct 1972

926325B547BASECTDB1E74C0713DD7AD
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Q.P.Code :33455

[Time: Three Hours]

Please check whether you have got the right questlon paper A%<

N.B: 1. All questions are compulsory.
2. All questions carry equal marks :
3. Draw neat labelled diagrams wherever necessary

Q1. A) Fillin the blanks by choosing the correct option given in the bracket:

a. is the most extreme form of malnutrition
(obesity, flatulence, starvation)

b. Major site for storage of fat is in the layer of skin.
(epidermal, dermal, subcutaneous)

¢. Potassium permanganate is a strong : agent,
(oxidizing, reducing, disinfecting) :

d. Oral hygiene is the practice of keeping the clean.
(body, mouth, hands)

e. is a sleep disorder.
(Diabetes, Migrane; Insomnia)

B) Match the Columns l.ahd:’l.iz':énd,mwrige- e R
S ek : o

a) Goitre & % . 1) Syphilis

b) Mobile phqnes O e 2) .Retro virus

c) Rabies: S ISR 3) Ei_éctro magnetic radiations
d) AIDSS & wh OF - ' e 4) Thyroid gland

e). Per‘iicﬂ'nn- FAa B ar 5). Dog bite

Q) State whetherTrue or False
‘ IgD is present m large amounts in colostrum.
Influenza virus are small RNA viruses,
-.Leprosy is not. an. mf‘ectlous disease.
- Blood pressure? Iewers dunng sieep
& 'HIV wrus s‘everely weakens the immune system.

_ggnap

ks B) Answer in one sentente :
) ; a. Defme balance,d diet..
 b. Give: full farm of’ MLEC
SC Define non pota,ﬁle water.
‘ ;Gwe any two' causes of Insomnia.
e GIVE any two types of Asthma.

20C706369D83FC6503EB4BDD3D1DF253
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Q.2

Q.3

Q.5

A)
A)

B)

A)

A)

B)

Q.P. Code : 33455

2

Describe causes, symptoms, prevention and remedy for Anemia. .~ .~ Rl o

OR
What is protein energy malnutrition? Elaborate upon its types.

Answer the following (any two)
a. Causes and remedy for piles.
b. Significance of breast feeding.
c. Rickets.
d. Peptic ulcer.

Define health. Add a note on factors that influence health.
Describe method of purification of water for small scale consumption.

Answer the following (any two)

Radiation risk from electronic, gadgets
Concept of blood: bank‘ A e
Personal hygiene. il
Propertlas‘o Watah

oo oo

10

10

Give a detailed acqountof sym toms, cahses, preventi'oh'é‘ndrrei"r.tédy of the following diseases 20

(anytwo) & . :
a. lnsui‘ﬂma i
b, Tuber;ulosis B
< vaertenslon
d Gpnomhea

Wrate shn;t nptes on {any four)
SESY- ¥ BMI and- ltssigniﬁcance
b Goltpd VS
c} Social health
o Worldhealthorganizaﬁon :
G B Depressmn R
3 -ff Oral canpe ;

20C706369D83FC6503EB4BDD3D1DF253
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[Time: Three Hours]

Please check whether you have got the right questfon paper o
N.B: 1. All questions are compulsory.
2. All questions carry equal marks
3. Draw neat labelled diagrams wherever. necessary.

Q1. A) Fillin the blanks by choosing the correct option given m the bracket A 3 ; 05
a. Peptic ulcer is a general term for ulcers in ' ' "
(stomach, mouth, liver)
b. BMlI is the simplest method of assessment of
(starvation, flatulence, obesity)
c. Poliomyelitis is caused by
(RNA virus, Bacteria, DNA varus)
d. lodine is an excellent aggnt.
(oxidizing, reducing, dlsinfecting)
e. Syphilisisa dlsease. AL
(contagious, viral, mon contaglous)

B) MatchtheCqumnsland‘ilandrewnte : : frok ey 05
a) Dengue. fever A S ' 1) Bacteria’
b) Smallpox i e - 2) Asprin
c) Plasma e L : 3) Mosquitoes
d) Typho:d gt 4) Blood derivative
e) Pam relieVEr 2T 5) Variola virus
C) StatewhetherTrue oF False : 05

3 Swine flu causes a respiratory infection.
rb The most’ cummon symptom of peptic ulcer is belching.
v Springs are ma*ft made water resources.
e ‘fd HIVispreads tthgh mothe?’s milk.
e Reiaxatlon thet‘apy cannot be used to treat anxiety.

D) Define thefollow:ng 0 e 4 05
oot D Anerilac o

."Gptlmum nutrmon 8

Blue water footprint

Tetanus

Specific host

N

Turn Over
8897F38EDZEBB3D333FC7580273963A5



Q.2 A)

A)
B)

Q3 A)
A)

B)

Q.5

Q.P. Code : 33454

Discuss causes and consequences of obesity. N

OR

Explain in detail the causes, symptoms and remedy for flatulence. _
Explain the following (any two) Sl
a. Importance of dietary fibers.
b. Symptoms and prevention of acid reflux.
c. Causes and symptoms of constipation.
d. Causes and symptoms of Rickets.

Describe sources of water.

OR

Explain dog bite. Add a note on its treatment.

Write short notes on (any two)

a.

b.

C.

d.

Physical and psychelogical health.
Chemical dlsmfest:on

First Aid. ¥

National Malaria Eradlcatmn Programme

Answer the followmg (apy two}

a.

b.
&
d.

Explain. cauSes% symptoms and treatment of migraine.

Describe causes, sympto‘ms _diagnosis and treatment of Insomnia.

Dlscuss causes, symptoms, dmgnosus and precauttons of AIDS.

Give an account of causative agent, mode of transmission, treatment and

preventlon of Typhmd

Write shon notes on. (any four)

a.

b

N

e
8
f

Sex hygiene

. Goitre

5 Starvatmn

Effects of Self medication

), '.Hypertenswn L o
'Communicable diseases

6B97F38ED2EB83D333FC758D273963A5
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[Time: Three Hours] Sk s ' [Marks 100]" 3

Q P Code 32378

Please check whether you have got the right qucsnon paper
N.B: 1. All questions are compulsory. N

2. Figures to the right indicate full marks. o

3. Draw neat and labelled diagrams whf;reyei' necessary.

Q.1 A) Choose the correct option from the following; ; D .3_ & 10

a. ________isthe most P“ﬂ“ﬁVﬂtYpﬂaf protostelei : e S
i) Haplostele ii) Siphonostele in) AtactOsgelg w) Solenostele

b. In pteridophytes sex qrgansarp jacke;cd A
i) Unicellular u) Bweﬂular 111) Exposed 1v)-~M1_;jtj;e]lti_\l;af

e _____areatmkﬁﬁwnmhalkg}ands N AR
i) Hydathodes 1!3 Ramen‘mm ii) StOmata Wl'l’rlchomes

d. In Cycasfcmmleeoﬁesgrc s e PR
i) Presenitattheapex = ji) Present in the axil of leaf
111) Presertt besnﬁe mak: cone iv) Absent

& C’yca.s shows ‘ type of pelhnatmn
: :"'i) Entomophﬁgus u}My[chophllous m)Hydrophllous iv)Anemophilous

f Cycag is. caﬂed & '
L | ‘Saga palm u) Date paim m) Areca palm iv) Fan palm

2 ”1”t1,ssué_replac¢s latcrtii veins in Cycas leaf to check the loss of water as dew.
) 'Vnscufar i ‘Epldermat m) Transfusion iv) Ground

e lateral outgrovﬂh present at the base of the leaf is called
etrole u}%lade 1{;) Stipules  iv) Pulvinus

1 Sunﬂ‘ower shows '_ type of inflorescence.
i) Sp:ke 11) Catkm iii) Capitulum  iv) Spadix

In'Nepenﬂzes ;Slant the leaf blade is modified into a
*l) BT‘adder ‘i) Pitcher  iii) Tendril iv)Phyllode

9FE72D2BBADCF4B906821709A2B758D3




Q.1 B) Answer the following in one sentence: LR
a) Mention the position of sori in Nephrolepis pmna e R
b) Define actactostele. S
¢) What is monoxylic wood?
d) What is significance of phyllotaxy?
€) Give names of two racemose inflorescence. -

Q.2 Answer any two from the following:

a) Describe the different types of advanced stele S RN : B S
b) Explain with the help of suitable dragram the mterna} structure of Nephrolepzs rashxs-.
¢) Describe the structure of prothalfus.and sex organs in Néphroi‘epis CHIER £

d) Explain alternation of generatlbrm in Mgp roiepz.s A )

Q.3 Answer any two from the followm' e g
$ Write s doruili I nﬁcfpsiéstdﬁhynaqﬁcyea
b) Explain with the help @mcim' , T.8. of pinaa

¢) Give a detailed aceqmj{of ‘pe‘lhngtxon and
d) Give the econom_ ] tanet

20

20

e ication, dfstingmshmg eharacters ﬂorak formula and two plants of economic
nnpoﬂaacqnf fgm;iy Malvaceae. - -
b) Explain e:quse«typenf mffére‘sc:ence with. exampl&s
c) Whatis ptnnatelyfcompoundwaj? Describe fypes of pinnately compound leaves.
d) 8 emacc(}unf@f vﬁnous leaf: modlf' cations. -

0 S g 20
Sﬁmﬁﬁ@ position of Nepbra[ “j.s.wn;h reasons,
2 M§ﬁl@d§ofﬁ?pﬁrd{eprs S

Draw L. §. ‘DECch& ok DR

memm e XXX XXX~ mem

9FE72D2B8ADCF4B906821709A2B75BD3



F}iiw gl '-‘f”’juﬁ/fl’:ﬁ’/%\f'

Q P. ‘Code *323825{{_

[Time: Three Hou rs]

Please check whether you have got the: nght questxon papﬂl‘
N.B: i) Al questions are compulsory

ii)  Figures to the right indicate full marks S gD

iii)  Draw neat and labeled dmgrams whenever lres:essary

Q.1 A. Choose the correct option from the foliowmg SERIRICEIE O _
a) is the essential pigment for phomsynthesm R o
i) Anthocyanin i) Camtene_ ). Chlorap‘hyl] Iv) ththoph“yﬂ :

b) Photosystemlconsmts- E i S -' : _' ;‘Vf & U
i) Pego ii) Peoo. m}‘Pﬂm 7 lV}T’&bﬁ
c) is the ﬁfststable compqund fonned durmg Calvm cycl“e
i) ATP uﬁ PGA : 'mj RuBP 1v) NADPH

d) RuBP is,a;:"‘;";-- compound PR
i on «M)S Carbcm ' ni) 9Carbon 'i\v}‘Z“Carbon

Amhithﬁ .

x;i) Starel _iijgr-talycoside

of Curcuma longa.
1v) Bark

iv) Parenchyma

: Y “are. mléeﬂuihr structures present on epidermis.
ulaﬂm u) Scales i) Ramentum iv) Dendroid hairs

etybmt, coilatqmi,ﬂpen and endarch vascular bundles are found in
M dmca’t sten’r i) Dicot stem iii) Dicot root iv) Monocot root
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Q 1. B. Answer the following in one sentence: ; e etk AT AT
a) Write any two functions of parenchyma tissue. : by ok
b) What is protoxylem?
¢) Significance of Hill’s reaction.
d) Write any two active constituents of Zingiber- oﬁ‘ cmaie
¢) Name any two alkaloids found in plants.

Q.2 Answer any two from the following: P e LN st e 20
a) Describe T.S. of young Dicot stem. ' g VA
b) Give a detailed account of epidermal appendages oﬂplants. 5l
¢) Enlist and explain different components of phloem tissue. 2
d) Mention the types and descubq strucmre and" ﬁmctions of parcnchyma tlSSUE'»

Q.3 Answer any two from the followmg - B I RN 20
a) Discuss Non-cyclic photo ﬁasphorylatlon o R, A
b) Explain Calvin pathway R Plants o S ; ;
¢) Elaborate the role: of*blantpxgments involved in photosynthesns‘
d) Describe in detail the C4 pathway

Q.4 Answer any two fmm th‘e \,lflowmg ' ' 20
a) What are seeoﬂdéry metaboirtes? Give types and func’uons of secondary metabolites?
b) What ay‘e the contents of Grandma 's.pouch? Give. botamcal name, family, active constituents,
source and’ uses ufTulsr

c) G:v&an accuunt on botanma} name fam1ly, actWe consutuents and uses of Sandalwood and
Aloe ol t

imedmm bqtany? Describc primary mctabohtes and mention their functions.

Q.5 Wnte shdrt notes on any four):
VG S oT S of monocot leaf. :
s Schem@no represemgtlon of CAM pathway
Ty Actmaqenstxtqgn@" T‘anneri& :
"« .'d) Medicinal uses of ginger. . -
()P Cyclis photephospho:ylatinm
§ 878 __f) Stmcture Df Vﬁsa‘u;lar hundlcs in monocot stem.
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